Answer on Question #62512 — Math — Statistics and Probability

Question

Refer again to the regression analysis for average attendance and games won by American League
baseball teams in exercise 44. Write the equation of the regression line.

Solution

Basebhall. An exercise in the last chapter looked at the
elationship between the number of games wor by Amer-
can League baseball teams and the aoerage afferndarice at
heir home games for the first half of the 2001 season.

ere are the scatterplot, the residuals plot, and part of
e regression analysis.
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Dependent variasble is: Attendance

RS = 33.3%6

Variable Coefficient
INncercept S773.27
VWins S17.6809

From the regression analysis we have

Intercept=5773.27 and slope=517.609.

Regression line: y = 517.609x + 5773.27

Or, in context: Attendance = 517.609 * Wins + 5773.27
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